Chapter:Solutions


QUESTIONS





Financial control is the formal evaluation of some financial facet of an organization or a responsibility center. Financial control uses financial numbers, such as costs or expenses, as broad indices of performance or measures of the resources used by a process or organizational unit. Financial control may involve comparing actual financial numbers with targets from a standard or budget to derive variances.





12-2	Analysis of reasons for the variance between actual and estimated job costs can help managers in several ways. If the managerial actions that led to actual costs being lower than the estimated costs are identified, similar cost savings can be realized by repeating those actions in the production of other jobs. If factors resulting in actual costs being higher are identified, then managers may be able to take the necessary actions to eliminate or control those factors. If cost changes are likely to be permanent, however, the revised cost information can be used in revising standards for future variance analyses and in bidding for jobs in the future.





12-3	A flexible budget presents cost targets or forecasts for the organization’s achieved level of activity.





12-5	By classifying flexible budget variances into price and efficiency (use) variances, managers can better understand the factors causing those  variances and correct the standards or institute changes that help reduce expenses.





12-6	Yes. The labor efficiency variance will likely be favorable because fewer (actual) hours will be required for a job when experienced workers work on the job. The labor wage variance, however, will likely be unfavorable because experienced workers’ wages will be higher than those of less experienced workers.





12-7	The purchase and use of cheaper, lower quality materials is likely to result   in a favorable material price variance, an unfavorable material use variance, and an unfavorable labor efficiency variance, but the labor wage rate variance is not likely to be affected.





12-10	A responsibility center is an organization group that has been delegated the responsibility to achieve some stated objective.





12-11	A cost center is a responsibility unit that is evaluated based on its ability to control costs relative to some standard.





12-13	Organizations use profit centers when profit center employees have the ability and responsibility to control significant levels of revenues and costs.





12-18	A soft number is a number that is based on conventional accounting assumptions but is highly subjective. Since it is a matter of subjective interpretation, a soft number is neither right nor wrong.





12-22	Organizations use many types of resources to make goods and services. When organizations use control systems that require cost numbers for its responsibility centers, the costs of the resources that are used by two or more responsibility centers must be divided between or among those responsibility centers.





12-27	Financial control alone may be an ineffective control scorecard for three reasons. First, it focuses on financial measures that do not measure the organization’s other important attributes, such as product quality and customer service. Second, financial control measures the financial effect of the overall level of performance achieved on the critical success factors, and it ignores the performance achieved on the individual critical success factors. Third, financial control is usually oriented to short-term profit performance. 





EXERCISES


12-28(a)	Material price variance	�


				Material use variance	�





	(b)	Direct labor rate variance		�


		Direct labor efficiency variance	�








12-29	(a)	Direct material price variance �





	(b)	Direct material use variance �





	(c)	A favorable labor efficiency variance of $100 for job 822 implies that �. Therefore, �.





	(d)	An unfavorable labor rate variance of $250 for job 822 implies that �. Therefore, �. Finally, the actual direct labor costs incurred for Job 822 are: �.





12-31	(a)	Material price variance �


		Component of X: � units of X.


		Component of Y: � units of Y.


		Component of Z: � units of Z.





	(b)	Material use variance �


		Component of X: � per unit of X.


		Component of Y: � per unit of Y.


		Component of Z: � per unit of Z.





12-32	Planned number of batches �


	Flexible budget number of batches �





12-34	Examples of organization units that might be responsibility centers in a university include: a school or college, a department within a school or college, maintenance, the computing center, a residence, the registrar’s office, a sports program, and the alumni office.





12-36	Examples of cost centers are: a maintenance department in a factory, a computer department in an insurance company, and a personnel office in a government. What these responsibility centers have in common is that they do not deal directly with the organization’s primary customer. Therefore, they have no direct effect on revenues. 





12-37	Examples of revenue centers are: the sporting goods department in a large department store where the purchasing group makes all stocking decisions, the counter department in a fast food restaurant, and the sales office in an insurance company. What these responsibility centers have in common is that they all deal with customers and have little control over the major cost of the product that they are selling to the customer. 





12-45	Transfer prices can be based on market prices, based on costs, negotiated, or set by some arbitrator or administrative rule. There are market prices for raw logs. However, the number of logs that are bought and sold in these markets would be tiny compared to the number of logs that are used internally. The transfer price could be based on the costs of maintaining the forests and logging costs. However, logs suitable for a saw mill are more valuable than logs suitable for a pulp mill, and cost based transfer pricing would not reflect this.





	The real issue here is the benefit to the organization of treating the logging and finishing divisions (the saw mills and the pulp mills) as profit centers. If company success is determined by having the appropriate supply of trees at the appropriate time, those criteria might be a more useful basis for control than financial controls organized around profit centers.





12-48	Numbers that accountants report to outsiders in financial statements are hard in the sense that they result from the application of strict rules. In a given situation, there is some, but limited, opportunity for discretion in determining a number’s value. Therefore, people tend to think of accounting numbers as hard in the sense that two accountants faced with the same situation would likely come up with numbers that are quite close together. For internal financial control, however, many accounting numbers, such as profits and costs, result from applying subjective rules such as transfer prices and cost allocations. These subjective rules create the possibility of large differences resulting from the application of different assumptions. The idea of a soft number was likely developed to warn people that these internal accounting numbers have very different properties than the accounting numbers that are reported to outsiders. 





12-54�
�
Golfing Line�
Ski Line�
Tennis Line�
Football Line�
�
�
Income�
 $3,500,000�
 $7,800,000�
 $2,600,000�
 $1,700,000�
�
�
�
�
�
�
�
�
�
investment�
$35,000,000�
$50,000,000�
$45,000,000�
$23,000,000�
�
�
�
�
�
�
�
�
�
required return @ 10%�
 $3,500,000�
 $5,000,000�
 $4,500,000�
 $2,300,000�
�
�
�
�
�
�
�
�
�
economic value added�
        $0�
 $2,800,000�
 ($1,900,000)�
   ($600,000)�
�
�
�
�
�
�
�
�



Based on this analysis, the golfing line is marginally acceptable and the tennis lines and football lines are unacceptable. It is only the ski line that appears to be providing a return that would justify the investment level. These results must be interpreted with caution. The accountant must determine whether there are revenue and cost allocation assumptions underlying the reported income figures that could cause the reported results to be quite different than if other assumptions were used. There should be a determination of whether this is an unusual year or an average year. If the income numbers seem hard and the results typical of an average year’s operations, this company must improve its performance in the tennis and football lines substantially or think seriously of abandoning them.


 








�
PROBLEMS


Fundamental Problems





12-56	(a)	Total direct material cost variance


		�





	(b)	Total direct labor cost variance


		�





	(c)	Total flexible support cost variance


		�





	(d)	Direct material price variance


		�





	(e)	Direct material use variance


		�





�
	(f)	Direct labor rate variance


�


	(g)	Direct labor efficiency variance


		�





	(h)	Flexible support rate variance


�





	(i)	Flexible support efficiency (use) variance


		�





12-57	(a)	Total direct material cost variance


		�





	(b)	Total direct labor cost variance


		�





�
	(c)	Total flexible support cost variance


		�





	(d)	Direct material price variance


		�





	(e)	Direct material use variance


		�





	(f)	Direct labor rate variance


�





	(g)	Direct labor efficiency variance


		�





	(h)	Flexible support rate variance


�





	(i)	Flexible support efficiency (use) variance


�


�
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